
–

1)

–

2)

–

3)

–

4)

–

5)

–

6)

4 6 5, 9 8 5

9, 5 2 7

8 2 7, 5 7 3

6 5 1, 3 5 6

5 8 6, 3 6 2

2 6, 8 4 5–

7)

3 1 8, 8 4 1

3 5, 6 7 3

2 5 4, 7 3 8

7, 2 1 4

7 4 9, 1 0 0

5 3 8, 4 6 9–

8)

9 9 3, 2 2 4

4 8 3, 7 9 2

6 7 2, 6 5 7

1 4, 1 0 8

1 3 1, 4 1 9

2, 9 3 1–

9)

The Michigan stadium has a seating capacity of 107,601. The Rose Bowl stadium

can accomodate up to 92,542 spectators. Find the di!erence in seating capacity

between the two stadiums.

11)

10) A ship carried 319,193 tonnes of cargo. If the ship o"oaded 1,011 tonnes at the

next port, how many tonnes of cargo remain on board?

Score :Name :

6-digit mixed: T2S1
Subtraction
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